Ol (FRWED) KEE=FI)VIHRE—E (RIHE)
BT B YT /RT3 I FSITEEIRIE_ Ba/L

A4, Ho i e — BIA | Kfe [ °C mo [ OKIR [ BROKTR| B [BRUSRE] SS [ EE [mwavs BeHTER LD AL fEE
" C m cm mS/m mg/L JE 1-131 | Cs—134 | Cs—137
T N Tt Xt 9fsH| W [23.4]0.35] 16.6 | 0.0 [100LLE 13.1 3| 1.2 <1 <1 <1
AT LA Bl A 9HsH| W5 [31.2]055] 22.1] 0.0 [100LkE 19.8 4 1.9 <1 <1 <1
NSRS i B &30 A 9A8H| W ]30.0]0.25] 24.8] 0.0 78 175.9 16] 8.1 <1 <1 <1
P T - K] E|/ &) K] 9H9H| MW |21.6]0.35] 15.8 | 0.0 [100XAE 5.5 3 1.5 <1 <1 <1
BEBIRE IR T oHoH|Z#%ME| 27.2 ] 0.45 | 20.0 | 0.0 [10024 20. 2 3] 2.3 <1 <1 <1
F4 Jodp |ENE KT 9H9H] 2 [29.9]0.60] 16.7] 0.0 [100XAE 6.2 6] 2.2 <1 <1 <1
H 5ife e 20t 9oHoH| M ] 28.9]0.50 ]| 20.2| 0.0 [10024 E 10. 4 9| 4.1 <1 <1 <1
7K B BT JeF Ik i 9H10A] s | 27.1 [ 0.30 | 21.3 ] 0.0 |100Lk | 38. 4 5] 3.1 <1 <1 <1
F BEIAR AT |3 D i AT 9H10A]| i | 27.0 | 0.20 | 20.0] 0.0 61 7.7 12 11 <1 <1 <1
BRI P A K 910 PRiE [ 30.5 ] 0.40 | 20.2 [ 0.0 |10024 | 22.2 2 1.6 <1 <1 <
e R K 9a10H| ms | 26.0]0.30] 16.3[ 0.0[ 83 11.9 8| 5.9 < < <1
) B E iR T K T 9A10H| M ] 30.8 [ 0.40] 22.0 0.0 10024 | 14.1 4] 2.0 <1 <1 <1
1 I ERNA 9A10H| H5 | 31.2 [ 0.40] 21.9 0.0 [100L4 k= 15.3 4 2.7 <1 <1 <1
B = )G SVAH 9A1IH] mE ]125.2 10291 22.8 0.0 89 183.9 5| 3.2 <1 <1 <1
JINE 1 RA-HT 9H11H] # [29.8]0.25 ] 23.1 0.0 |100Lk | 8.8 5[ 2.6 <1 <1 <1
)1 ) 1145 RA-HT 9Ad1IA| mE | 31.3]0.45] 21.4] 0.0 |1000LE 10.3 3] 2.3 <1 <1 <1
8 i) | AN KoY 9H11A| W [32.6]0.45 | 27.7 [ 0.0 10024 20.3 1 1.3 4 4 <
2% 83l iy filPNH 9A11A] W [26.9]0.65] 25.5] 0.0 10081 I 11.2 5| 3.1 < < <
I 7)) LS il PN | 9Adtop| i [28.6]0.37 ] 24.3] 0.0f 100 42.2 9 8.5 <1 <1 <1
CAS 71/ R S 17 7 - — 72108 5 X 0 7 | <1 |
o fii =N H . . . . . . 1 1
" B Bk o il N ] 9H10F ]| tRiF | 31.8 | 1.00 | 24.4 | 0.0 [100LK L 13.6 13] 8.0 <1 <1 <1
K4 fil HAZTH - B 9H10A]| ® [31.8]0.80] 25.3] 0.0] 87.5 13.7 8] 6.3 <1 <1 <1
a=ol NN Hoifi 9A11H| mE | 2591 1.8 | 28.2 0.0 24 1281.0 20 17 <1 <1 <1
KR Pl AN WA OH11H] B [27.0]0.30] 22.9] 0.0 82 24. 6 9] 6.8 <1 <1 <1
)| ) il N b 9H8H| W | 23.0]0.38] 21.2 0.0 [10001E 13.9 2| 1.2 <1 <1 <1
HR )| [ e T - RN 9H8H| B |29.1]0.71] 21.1 0.0 [1002 E 12.5 6] 4.3 <1 <1 <1
o PEL el A Bk BLAT 9A8H| M5 | 29.4[0.28] 20.4] 0.0 [1000LE 14.6 5] 2.8 < < <1
g ) LS KT 9Ad12H] Hy |81.6f1.40] 22.9] 0.0 [100LLE 15. 1 5| 3.5 <1 < <
o PeE 1;# AT {ofmenl my [32.711.30f 2491 0.0 88 15.2 9] 6.6 <1 <1 <1
| ok |mE gﬁma O7=B7epnidy - Aoifi | OH1IH] By ] 28.610.25) 24.9] 0.0 88 24. 4 11| 8.6 <1 <1 <1
[ (%7J<izﬁ7; OF b hii Of1LE] W5 130.2]030f 25.5] 0.0}1000LE 34.8 9] 5.5 < < <1
I %;EJE}“ .éi}z%/gm Ao - 9d12H] g |83.2)0.70] 27.3] 0.0] 24 23.3 37 25 < < <
X ?Eﬂg AT - O b7eaedi | ORI1H] WE 129.016.05 ] 2491 0.0 93 16. 4 71 8.0 <1 <1 <1
= 1] DN Oz b 7 i 10H3H] B [21.2 1020 ] 18.7 ] 0.0 53 82.3 13 11 <1 <1 <1
A [EEETT R IRRT 1040 B [ 23.2 [ 0.10 ] 17.0 ] 0.0 [10021 E 21.2 5| 5.2 <1 <1 <1
g [EE) (e 1 ZRIRHT 1041 PemE | 18.7 [ 0.20 | 16.1 | 0.0 [100Lk [ 21.9 5| 3.9 <1 <1 <1
B TR IR 10748 w5 [ 16.2]0.60 ] 14.3] 0.0 [10081 E 25.5 6] 3.4 <1 <1 <1
e D omei] e [as o | mrl oot m | ars| ml w | af —al
R A ,5, . . i i ] 2 20 <1 <1 <1
- {1 )] TEVE A KT - KPElT 10830 Hf [ 21.4]0.60] 19.1 0.0 1002 | 14.0 6] 4.8 <1 <1 <1
g JIEk i SR T 9H10H| ®5 [ 31.1 [ 1.00 ] 23.0 0.0 93 36. 4 71 6.3 <1 <1 <1
il E)1] pEAIIE b7 [ 11 9H10H]| tri5 | 29.8 1 0.80 | 22.0 | 0.0 46 27.7 18 11 <1 <1 <1
o B A PN 15 £ i 9A10A| 5 | 31.4]0.23] 20.7 | 0.0 [1000hE 26.7 12| 6.4 <1 <1 <1
| (B lEPN 1305 10437 i ]21.81040f 16.0] 0.0] 80 30.9 8] 6.6 <1 <1 <1
S I (S il T A 1151 10H3H| #5 ]22.0]055f 17.3] 0.0 16 30.7 43 37 <1 4 4
| o pE JERJ |4 1Thm 10A3A] MW | 22.1]08 | 17.7] 0.0 50 31.6 13 11 <1 <1 <1
0 JEe) 1] ] ARG (vt 10A3H]| W5 | 23.3]0.19] 20.8 0.0 79 29.3 71 6.5 <1 <1 <1
el AR TR g T 10H4H] W 12201 0.20] 18.6 0.0 34 43.6 18 22 &l &l <
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ma) PUANMER ALZR IR T 9H8H] W [23.4[0.35 ] 17.2 10 [ 77.5 i) <30 900 1,100

A ILAE JbFK Ik i 9H8H % | 31.2]0.55| 22.5 10 | 75.2 |#ERD <30 320 390

L= B S8 —Aflal4g (el 9AsH| W5 [ 30.0] 0.25 18.8 7 | 71.8 [MUERD <30 270 290

R Ea L2k 9H9H| m | 21.6 | 0.35 ]| 15.8 7 | 82.0 |MRW <30 110 140

Ef}s%ﬂlffﬁ El%/ i 9H9H|Z%mE| 27.2 |1 0.45 | 20.1 5 | 80.8 [W <30 140 160

Z L B Ak i1 9H9H| 4 [29.90.60 [ 16.8 5 | 54.7 |2V FEW <30] 1,400 1,700

= ij% & Elv/S Al 9A9H| W5 [28.9]10.50 ] 20.3 5| 60.0 [WET L E <30 1, 000 1, 200

K EEE i ek 9d1oA| s | 27.1 [ 0.30 | 21.5 5 | 7.8 |[w <30 180 200

EA BERFI [ RHE Ak 9A10H]| el | 27.0 [ 0.20 | 20.2 5 | 77.2 W <30 260 310

B AR 1] P A EAK T 9A10H ]| BeiE | 30.5 [ 0.40 | 20.5 5| 78.1 [w <30 320 370

PR KT 9H10A] mE | 26.0[0.30] 17.0 10 | 80.9 |# <30 51 61

- B EAE EAk 9H10A| M | 30.8[0.40] 22.3 10 | 79.2 |w <30 300 350

+FJI 1 R HE Hyrm 9H10H F | 31.2 ] 0.40 | 24.9 10 | 78.3 |#EIREAY <30 73 80

‘=)l =) oA 9H11H 5 125.210.29] 23.6 5 1 90.4 [MYRW <30 64 79

J\3i)1 ks KA 9H11H F [ 29.8]0.25 [ 21.9 8 | 76.9 [#. v iEW <30 78 98

Eatll 71145 KT-HT 9A11A| M | 31.3[0.45] 22.2 10 | 85.3 |#EW <30 12 19

M i) | /AR K AT 9d11Al mE [32.6]0.45 ] 27.0 10 | 80.4 | <30 43 62

2% éﬁzﬂl Eﬁl’fﬁ ﬁ%ﬁﬁﬁ 9E115 #126.910.65 | 25.4 10 | 65.9 %?ﬁ;w h <30 470 570

% o) | 4 o B K T 9H10H b 28.6 | 0.37 | 24.3 5 | 72.0 [BEER <30 63 87

)7J|<| ES]| IESIL il PN S (i) 9H8H]| mE | 27.7 [ 0.66 [ 25.4 5| 81.1 [k ﬁﬁﬂf <30 81 91

o N i b K T 9A10A]| m | 32.7[0.87 | 24.5 10 | 81.8 |#EEW <30 11 10

R ] %A G WK E T 9A10H]| Buig | 31.8 [ 1.00 | 24.4 10 | 81.3 |#b <30 23 37

&3 his Hyor - Bk 9d10H| mE | 31.8 [ 0.80] 25.2 5| 66.8 [V FNEW <30 120 170

SR 1BAKAE HZtfi 9A11H]| mE | 25.9[1.89 | 28.6 10 | 51.9 [WHEI L I <30 480 560

AR RILKE VLT oHd11Al ©E | 27.0 [0.30] 23.0 4 | 73.6 | <30 580 670

)| it ) A B K e T 9HsH] W5 [23.0]0.38] 21.6 10 | 81.9 [HEE EJ* <30 36 41

HRET)1 [ R E T - AT 9/8H % [ 209.1]0.71] 22.8 5 | 79.8 [BUEWD <30 75 94

g PR Eﬁéﬂﬁ i Hk JLHT 9HB8H| W |29.4 [ 0.28 | 20.4 5 [ 8L [ <30 38 58

m A i K 9f12A| W [31.6 ] 1.40 | 22.9 5| 91.0 [ <30 50 57

o pPEE TI# AKEH | 9fd12HL Wg | 32.7] 1.30 | 22.0 10 | 36.7 E%b//v k <30 2,500] 3,000

5114 e E VERE Oz b 7e /i - ARETT | 9H11H i 28.6 [ 0.25 | 24.7 10 | 71.8 ﬁf%b <30 150 160

Il e T I R LS Piin e
~ E5S /N K H . . . ://

}7}! ARE)1 05 A Ao - Oz Bbre7pidi | 9H1IH] HE ] 29.0 | 6.05 | 22.8 10 [ 39.2 | /L b <30]  2,000] 2,400

ol GEBN] HIRIE (O R2Y Y] 1038 s [ 2.2 ]0.20] 19.5 10 | 35.0 [ v NIERD <30 2,000 2, 400

R E EERIT R RIRHT 10H4H8] tREF | 23.2 1 0.10 [ 16.9 10 | 77.7 ﬁinEJ‘ <30 220 240

o [EE) [ T 1040 topF [ 18.7 ] 0.20 | 16.2 10 | 87.8 [HEW <30 37 47

Bl TEB ZRBIT 10H40] W ] 16.2]0.60 | 14.5 10 | 87.1 ﬁiﬂf{EEJ‘ <30 76 91

S e PN PRHT - KGERT 1048 w5 [12.1]0.60 ] 14.8 10 | 82.7 [HELAD <30 140 180

P )11 PN KT 9H12A| W [ 28.1 [ 0.60] 25.6 10| 7.5 [ Mm@ <30 74 81

> TR THEE KT - KPElT 10H3H Ei 21.4 1 0.60 19.2 10 | 75.4 |#ERD <30 270 360

M)l JBAE f‘éaﬂﬁ 9H10H] B [ 31.1[1.00] 25.3 5| 76.1 [ <30 170 220

| )1 po L g T 9HI10H| R | 29.8 | 0.80 | 24.2 5 | 811 [EEEW <30 130 150

e A PN EEA T 9H10H| W5 |31.4]0.23] 24.0 5[ 70.3 [W) <30 330 390

I o |®|) N1E KA 175 10838 w5 | 21.8]0.40 ] 16.3 10 | 79.0 [ <30 200 260

X A L) i PG 15 10A3A] W | 22.0]0.55 | 17.4 5| 70.8 [HRWD <30 270 330

S| W R T8k A 17451 1043 w5 [ 22.1]0.8] 18.1 10 | 62.8 |2V MEWD <30 460 560

n JieEE) 1] J ARG 1TH5m 10H3H] W ] 23.3]10.19] 20.0 3 | 84.5 |MUER <30 150 170

i)l AR FRME T 10H4H EF | 22.010.20 19.6 2| 72.8 [- o riw <30 580 630
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ORI GRFED) BBRECIIIB) E=SI T RE—E
= HIE
PRI 5 5
Sl BEERERZE ﬁg‘BW@®m ZE [l BRI %; Ba/kg (¥2)|ZEfR ] 6%
. C wtes ok EHPEE T A uSv/h wostes o EHEE T A uSv/h
g ;
Ak i rTAY 1-131 | Cs—134 | Cs-137 1-131 | Cs—134 | Cs—137
LR | LbeE%?ﬁ L3k 8H 23.4 30 190 230 0.48 <30 570 700 0.35
— £t JEZk 8H 3.2 <30 890| 1.000] 0.22 <30 320 410] 0.20
LA BT %jﬁﬂﬁ B| /@7 8H 30.0 <30] 1.200] 1,500 0.20 <30] 1.400] 1,700 0.19
HE 2ot Eld7/ 7 i 9H 21.6 <30 310 370 0.22 <30 250 300] 0.21
4 PRI L7kt 9H 27.2 <30] _1.000f 1,100 0.23 <30] 1.200] 1,300 0.26
-~ b [ AT 9H 29.9 <30 120 160[ 0.15 <30 290 350]  0.14
B Fits JEZ Ik 9H 28.9 <30 520 620] 0.22 <30 910 1,000] 0.21
K H 1] i El%/ 4 0H 27.1 7 <30 280 330] 0.18 <30 270 310 0.20
% BIRAII [EomiE [k 0H 27.0 . <30 350 450 0.26 L <30 500 580] 0.28
BAARII DA AT 0H 30.5 7 <30 380 460] 0.22 g <30 660 780] 0.25
EE) SEMRE  |makr 0H 26.0 L <30 360 430 0.17 L <30 430 500 0.20
- PHEERE &k 0H 30.8 = <30] 1.600] 1,800 0.17 7 <30 660 850| 0.18
£ N HE EAif 0H 31.2 = <30] 1.300] 1,500 0.12 7 <30 120 160 0.10
I ) [HS7d 11 25.2 i <30 240 270 0.20 i <30 160 190] 0.14
JUE]T ki NA-HT 1 H 29.8 <30 140 170 0.21 <30 230 280 0.20 [%1
gl ok KT 1H 3.3 <30 160 170 0.17 <30 100 120 0.21 |1
UN {ig)] /AR PNl LH 32.6 <30 170 220 0.14 2 <30 92 110]  0.15 [3%1
% D 1173 PR T 1H 26.9 <30 140 150] 0.21 o <30 73 85] 0.21 |1
i el IllEiS HEER T + 0H 28.6 <30 260 340 0.17 = <30 290 310 0.17 %1
K S| T EJIME WX - ARE 8H 27.1 <30 240 280 0.13 o <30 270 290 0.12
- IEN I PR 0H 32.7 <30 180 190 0.17 = <30 340 4101 0.21 %1
R E]I] EoRL SN k1 PN ] 0 31.8 <30 620 730] _0.21 7 <30 530 640 0.21 |1
I ZE) fi A EIA TR 5] 0H 31.8 <30 270 300 0.24 <30 310 340 0.22 %1
el TE /K S 1H 25.9 <30 110 110l 0.13 <30 240 300] 0.14
L T AT g SRS 110 27.0 i <30 340 450 0.14 <30 590 730] 0.15
i) | e ) 1] 1t AN E 23.0 7 <30 220 260 0.12 <30 420 530 0.13
AiE)] ¥ PR E T - IR T H 29. 1 7 <30 370 410 0.13 <30 800 980 0. 10
PR AR s H 29.4 = <30 180 220 0.13 — — — 0.12
mwo |EEIE IEN KT H 31.6 = <30 250 290] 0.09 <30 470 550]  0.09
i PREL INESE;S K H 32.7 4 <30 420 530 0.10 <30 700 760] 0.10
B ko [mE Etfs Oz B - ARl H 28. 6 7 <30 330 420 0.13 <30 500 550 0.15
Sl i kG T JO7C b il H 30.2 0 <30 130 40| 0.12 <30 190 200 0.12
m (B BREA/IME KT H 33.2 = <30 970| 1,100] 0.09 <30 520 620 0.08
K JRE)] 05 1A KA - O Ha il H 29.0 i <30 370 390 0.12 | WE <30 390 4401 0.14
i_ )T %g@;% OB 3 21.2 <30 370 450 0.15 <30 200 240 0.15
AR AR R 7] 4 23.2 <30 170 200 0.14 g <30 180 220 0.16
o A = 1 /A 4H 18.7 <30 310 360 0.15 7 <30 290 360 0.14
N B TG R 40 16. 2 <30 190 230 0.16 4 <30 870 1,000] 0.18
K K& RKENG SR T - RPEHT 4H 12.1 <30 700 840 0.13 - - - —
o E=RIN UNZi KT 9A12H 28.1 <30] 1.300] 1.400] 0.13 T <30 870| 1.000] 0.12
L PR 7&1@% AKEHT - RYEHT H3H 21.4 <30 410 460] _0.25 2 <30 850 990 0.18
PR )| JBAE gr M 10 A 311 - - - 0.17 — — — 0.24 |mmien
il = AT R 10H 29.8 = <30 420 500 0.34 <30 450 540]  0.34 %1
o R BRI H A SR 10H 31.4 i <30 450 550 0.29 <30 420 500] 0.31 %1
| [EED PN (v 3H 21.8 <30 220 260 0.19 <30 320 410 0.18
| A Pl fif A il 3H 22.0 <30 860 1,100] 0.16 <30 250 300 0.16
21w [E T 4% THTH 3H 22.1 <30 600 750 0.15 <30 730 800] 0.16
o JE 1] T AN [iid 3H 23.3 <30 730 910| 0.16 <30 410 510 0.16
Fl ZlRJEE T 22.0 — 0.10 — — — 0.08 | Gmtunn)
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O CrRKEQ) KBEEZRI)IHE—E
TR DU A S B R — A H S T E ) Ba/L
BIH | Xig| <C m AR | K | EEE | EXEE] S S WL | hotts % BT © L e
fE ‘If_i S N I s .

A e AL C m cm mS/m mg/L JiES 1-131 | Cs—134 | Cs—-137
[l 25 | B /NE T 9OHI10H]| Buig | 28.5 | 1.75 | 22.2 0.0 55 26.7 5] 7.9 [l [l [l
W Pt alm - /NEESR 9HoH| W | 31.6 | 0.58 ] 25.9 0.0 94 62.7 3 3.0 4 4 4
7)1 RO A it T 9A9H| m5 [ 30.8 | 0.95 | 23.7 0.0 44 21.1 71 6.7 $l i$l i$l
=l FEE (i oA10A]| P | 29.9 [ 0.58 | 22.5 0.0 70 38.8 8] 5.2 4 4 4
& |EA EFN BN D Hifi 9H10H| W | 30.6 ] 0.32] 25.1 0.0 |100LL 1= 29.2 10] 5.8 < < <1
P ok VT IGEL MBIV b 9A10H| ms | 31.3 [ 1.52] 26.0 0.0 67 27.1 71 5.5 <1 <1 <1
W 55)1 [ELE3645EME | i 9A10H| mE | 30.5 | 0.68 | 29.0 0.0 40 42.2 19 19 $l i$l i$l
x %fr)l AR A Rl _ 1043H] M | 18.4 [ 1.80 | 20.2 0.0 | 49.5 27.1 10 11 <1 <1 <
o i3l il i - o <UFH 9A9H| M5 [ 26.8]0.95 ] 24.0 0.0 44 23.1 17 14 $l i$l i$l
& {;Hujl E;u%ﬁf& fﬁﬁ 10H3H ‘lﬂ%i% 20.4 | 0.70 | 19.3 0.0 42 29. 1 13 16 41 41 4!
E==JI BFE i 10A3H 5 21.8 1 0.30 | 20.6 0.0 87 32.2 5| 5.7 4 <1 <1
Sl [P A (37 10730 B | 22.6 | 0.50 | 22.0 0.0 49 27.7 12| 8.9 4 4 41
/NI (YN HE o Wy 7 - i 9H12A] M [28.9[1.35] 246 0.0 11 5.4 44 32 <1 <1 <1
AR PETRIARAR i 9H12A] & [31.4]3.35] 30.6 0.0 12 5.0 12 16 < < <
speri | ) 1| It D NG B 10H48 ]| Pemg | 19.4 1 0.40 | 16.0 0.0 27 31.2 29 36 1 1 <1
el k:117]] HODIE sk 10440 5 1 20.0f 2.10] 20.0 0.0 33 28.8 18 13 <1 <1 <1
s | s T LY i 10H8H[ HF ] 20.8 ] 0.60 | 17.2 0.0 [100L1 12.8 12 6.2 <1 <1 <1
T i #ﬁa‘ﬁ 1078 Bem5 | 22.6 ] 0.30 | 19.1 0.0 23 13.7 36 23 4 4 4
ik HI S LG 10H8H F [ 20.0] 0.8 | 17.2 0.0 [100LL E 20.6 7 3.3 1 1 <1
| NGB EEViE ”%“%’Nﬁ 10A7H] W ] 21.2]0.80 | 19.0 0.0 ] 21 22.3 44 25 <1 <1 <1
o 41.47)1 Tl ST 8H30H | Pt | 26.6 [ 0.96 | 23.5 | 0.0 100k |- 19.5 3l 1.9 < < 4
m Kl P55 LM fﬁﬁﬁ 830H] M [29.8 [ 1.06 | 24.6 0.0 | 78.5 19.4 1l 3.7 <1 <1 <1
X AN PRE BB FLIE T 8H30H % | 30.5]1.85] 26.1 0.0 86 18.4 7 3.3 41 41 41
ol BN ES I FF NG T2t 8H30H| fE | 30.0 [ 0.98 | 26.8 0.0 35 27.5 22 13 <1 <1 <1
AL [FE) Dt SLEBEHH WV 10H6H] ®5 | 22.8]1.75 | 20.0 0.0 22 15.6 25 28 <1 <1 <1
K |/hEJI SUEE BE & W - R 10H6H % [ 23.6 [ 0.60 ] 19.0 0.0 | 17.5 18.8 120 57 4 < 4
o |l HLILAE S iEm 10H6H % ] 22.0]3.30] 19.4 0.0 24 17.9 23 19 41 41 41
EENEIIER N S ET 10H6H| £ 18.8 | 1.30 | 19.2 0.0 17 19.6 96 39 <1 4 1
T iz ) | NN S 1Em 10H6H] ®5 | 22.8]1.18 ] 19.6 0.0 40 16.5 16 12 <1 <1 <1
AN EaEH 0 EEr G 10H6H | 23.6 ] 2.25 | 20.0 0.0 17 18.8 28 24 <1 <1 <1
EE WD A R ksl oH11H] W [29.0]0.40 [ 27.2 0.0 31 33.9 14 22 a a 4
B%)1 KA Rk 1068| & [20.3]1.05] 20.1 0.0 88 26. 4 6] 4.0 4 4 1
TREKE | H TR erah 9oH11H| ® | 31.2]0.50] 27.6 0.0 |1002k | 38.7 5| 3.0 4 4 4
=) )G BEHT 10H6H i | 23.8 | 1.53 ] 18.6 0.0 28 18.0 33 16 4 < 4
1 e PNl i 10A8H] M | 17.8 [ 0.08 | 19.2 0.0 | 90 37.2 10 10 <1 <1 <1
B H‘%F'Jll J I W 106A] w5 | 23.5]1.18 ] 20.8 0.0 23 28.9 38 23 < <1 <1
N P PR R0 1048H| M | 20.2[0.38] 17.8 0.0 | 69 39.1 19] 6.6 <1 <1 <1
7 ST S il 1060 B | 24.6 | 2.86 | 19.3 0.0 14 19.0 34 21 4 < 4
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